A&P Chapter 3 Quiz 2
1. Which component of a plasma membrane creates a channel for transport of substances through the membrane?
a. peripheral plasma membrane proteins

b. carbohydrates

c. glycolipids

d. integral plasma membrane proteins

e. glycocalyx

2. Which of the following membrane junctions creates a waterproof seal?

a. tight junctions only

b. both desmosomes and gap junctions

c. desmosomes only

d. both gap junctions and tight junctions

e. gap junctions only

3. Exocytosis is an example of

a. osmosis.

b. active transport.

c. filtration.

d. facilitated diffusion.

e. vestibular transport.

4. Which  phase of a cell cycle occupies the longest amount of time?

a. interphase

b. metaphase

c. prophase

d. anaphase

e. telophase

5. Which component of the cytoskeleton is composed of strands of actin?
a. microtubule

b. microtrabecular lattice

c. microfilaments
d. centrioles

e. intermediate filaments

6. White blood cells engulf foreign material by using the process of 
a. receptor-mediated endocytosis.

b. pinocytosis.

c. exocytosis.

d. facilitated diffusion.

e. phagocytosis.

7. Which structures are absolutely necessary for a cell to divide?
a. lysosomes and peroxisomes

b. centrioles and cilia

c. mitochondria and smooth endoplasmic reticulum

d. rough endoplasmic reticulum and smooth endoplasmic reticulum

e. centrioles and nucleus

8. If a strand of DNA has the nitrogenous base sequence ATCG, the complimentary strand of RNA would have the sequence
a. GCTA.

b. TAGC.

c. UAGC.

d. ATCG.

e. AUCG.

9. Which of the following is not a function of smooth endoplasmic reticulum?
a. detoxification of drugs

b. transport of fats

c. synthesis of cholesterol

d. synthesis of proteins

e. synthesis of steroid hormones

10. During protein synthesis, amino acids are carried to the forming chain by
a. messenger RNA.

b. DNA.

c. ribosomal RNA.

d. transfer RNA.

11. The nuclear envelope disassembles during
a. prophase.

b. anaphase.

c. metaphase.

d. telophase.

e. interphase.

12. The site of the preassemply of ribosomes is the 
a. smooth endoplasmic reticulum.

b. rough endoplasmic reticulum.

c. mitrochondria.

d. nucleolus.

e. Golgi apparatus.

13. A woman’s perfume may eventually be detected across the room because of the process of
a. receptor-mediated endocytosis.

b. simple diffusion.

c. osmosis.

d. facilitated diffusion.

e. active transport.

14. Secretory granules are released from the 
a. smooth endoplasmic reticulum.

b. rough endoplasmic reticulum.

c. ribosomes.

d. Golgi apparatus.

e. mitochondria.

15. If red blood cells are placed in a hypotonic solution
a. the cells will agglutinate (clump).

b. the cells will crenate.

c. the cells will remain unchanged.

d. the cells will lyse.

e. the cells will repel each other.

A&P Chapter 3 Quiz 2 Answer Key

	1. d
	2. a
	3. e
	4. a
	5. c

	6. e
	7. e
	8. c
	9. d
	10. e

	11. a
	12. d
	13. b
	14. d
	15. d


